H & 0l & AHS B Ml A

= elEsiE € 25 (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SOIXOH Ol It 201,582,288 171,196,125 30,386, 163
= 129,992,245
= 159,067
J| 119,180
Al 38,295,839
= 33,015,957
LOoISXIESA 126,132,652 107,319,004 18,813,648
= 79,238,920
| 119,180
Al 20,726,074
= 26,048,478
LolgsiE ¥ B3 107,186,632 95,866,239 11,320,393
= 78,776,223
J| 119,180
Al 17,453,767
= 10,837,462
Lol=Xet 27,000 27,000 0
202 0idl 8,400 8,400
01 =LHO4b 8,400 8,400
OZ2 0| 8,400,000& 8,400
203 PR =&IH| 4,800 4,800
03 A FAIH R FAIH| 4,800 4,800
OA2=XNHRFE 4,800,000& 4,800
204 P AH| 13,800 13,800
03 SFH2ZHI 13,800 13,800
Oti2le=H| 50,0003 *23Z = 12& 13,800
LoIREEZAMEIA XA 3,096,022 2,682,220 413,802
= 2,164,862
Al 463,900
= 467,260
201 Ler23H| 3,360 3,360
01 AtR22elt] 3,360 3,360
O%IA3 &Y 70,0002 x4 43| 1,120
O==2HI= 2,240,000& 2,240
307 212+01™ 3,092,662 2,678,860 413,802
= 2,164,862
Al 463,900
= 463,900
11 AR SXAMEES 3,092,662 2,678,860 413,802
©elA| 2,8%,480,000& 2,896,480
= 2,027,535
Al 434,473




FA I OoNel 1t
M Lol=|=A
oo LOESKR U 25 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 434,472
OAtZHI 196, 182,000 196,182
= 137,327
Al 29,427
Ea 29,428
LoIEESMEIA SAsE 20,160 13,440 6,720
Al 20,160
307 elztol & 20,160 13,440 6.720
Al 20,160
11 AMEISXAEEES 20,160 13,440 6.720
OXA=< 40,0002 x 128« 1204 5,760
Al 5,760
OXMME=E 100,0002 x 12 %122 14,400
Al 14,400
SN0l - Hoje! SSeEAMEA 2EXRA (012 238,362 211,954 26,408
2g4l)
Jl 119,180
Al 59,591
Ea 59,591
307 @20l & 238,362 211,954 26,408
Jl 119,180
Al 59,591
= 59,591
1 AMEISXAEEES 238,362 211,954 26,408
OSAHEQ - Z0i2 SSHE A MHIAA
238,362,000 238,362
Jl 119,180
Al 59,591
= 59,591
SHEQ - 0 SSHEAYNHIA SAHLE 6,720 3,360 3,360
Al 6,720
307 glztol & 6,720 3,360 3,360
Al 6,720
1 AMISXAIEEX 6,720 3,360 3,360
o222 A
40,0002 x4 x 122 1,920
Al 1,920
OS82 XM2MLd=¢
100,000 x4 x 122 4,800
Al 4,800
HIH= ol A AHHE AL 279,000 279,000 0
Al 271,800
s 7,200
307 21201 & 279,000 279,000 0




FA I OoNel 1t
M Lol=XEX
oo LOESKR U 25 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 271,800
s 7,200
11 AMEISXAEEES 279,000 279,000 0
OMIH=Ql AABIEAISY = HI
3,000 *3022Z *3002 271,800
Al 271,800
OMIH=Ql AAIBIEAIY FFH 2 2|
600,000& 122 7,200
Hzdl ANEESSUE NZAY 82,000 60,000 22,000
307 el2to| & 82,000 60,000 22,000
1 AMISXAIEEXS 82,000 60,000 22,000
ONZ4 ANESIUE XA
82,000,000 82,000
DIESGI=IONI= 88,936,549 78,396,541 10,540,008
= 71,152,848
Al 10,670,221
o 7,113,480
301 EetE NS 88,936,549 78,396,541 10,540,008
= 71,152,848
Al 10,670,221
Ea 7,113,480
01 Al EE A S (2 RDEERA) 88,936,549 78,39%6,541 10,540,008
(OPJESULS 88,936,549,000& 88,936,549
= 71,152,848
Al 10,670,221
= 7,113,480
SOMAITH X1 122,700 122,700 0
Al 61,350
o 61,350
301 EetE NS 122,700 122,700 0
Al 61,350
o 61,350
02 ARSI 2E AT S(FIANS, XLETHE) 122,700 122,700 0
CODMEAIN 238l AR
100,000 *B18AI CH 81,800
Al 40,900
= 40,900
OIS MU ¢yl K&
50,0002 *818AI TH 40,900
Al 20,450
s 20,450
colgiiel & AtEIEs RIEAY 10,972,887 11,563,872 A590,985
= 5,458,513
Al 5,458,514




FA I OoNel 1t
M Lol=XEX
oo LOESKR U 25 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 55,860
101 @1A4H| 68,514 69,138 N624
= 30,267
Al 30,267
= 7,980
MU IIRIMZZENSES 68,514 69,138 N624
O QA ESXIRAAY EERH2H)
68,514,000 68,514
= 30,267
Al 30,267
= 7,980
201 eer23y| 84,420 89,400 /4,980
= 42,210
Al 42,210
01 At 2|l 84,420 89,400 24,980
OLQIAIRI 2SR FAIY FUHEH
84,420,000 84,420
= 42,210
Al 42,210
301 LEtE NS 1,440,450 1,603,800 163,350
= 720,225
Al 720,225
01 Al EE A S (2 DEXR) 1,440,450 1,603,800 163,350
O QA ESXIRAG (SUE) 1,440,450
OF O+ &St 270,000 x485%F « 11 1,440,450
= 720,225
Al 720,225
307 lztol & 1,402,971 1,333,217 69,754
= 697,705
Al 697,706
o 7,560
11 AMRISXAEEES 1,402,971 1,333,217 69,754
OCIAtSI 2SI AL
94,041,000 94,041
= 43,240
Al 43,241
s 7,560
O QA ESXIRAS (BUE)
270,000 x340F <112 1,009,800
= 504,900
Al 504,900
O At Z2SAIEAAMNS 2UELI
61,200,000& 61,200
= 30,600




FA I OoNel 1t
M Lol=XEX
gelr LoEsIE ¥ 25 (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 30,600
O QA E S XA AL (AFZI MHIAE) 237,930
OQIZH| 504,000 x30E « 10 178,200
= 89,100
Al 89,100
OF5=+¢ 145,700 «30E *10& 43,710
= 21,855
Al 21,855
O=aHl 534,000& 30 16,020
= 8,010
Al 8,010
308 XXM SO0IH 7,819,797 8,320,972 AB01,175
= 3,8%,038
Al 3,8%,039
o 271,720
11 S 2SS & AS AL 7,819,797 8,320,972 AB01,175
OLQASESXIRAY EERH11Y)
344,817,000 344,817
= 158,548
Al 158,549
o 27,720
OLQIASIE2 SIS (S2UE) 4,567,500
Og=H| 4,306,500
o MRS
270,000 +320F « 112 950,400
= 475,200
Al 475,200
gRolsi2
270,000 x440E « 11 1,306,800
= 653,400
Al 653,400
. AILIOIZE 270,000 «600S 112 2,049,300
= 1,024,650
Al 1,024,650
O=RU&l 261,000
NELel=X 2 180,000 *320H 57,600
= 28,800
Al 28,800
. gRosX 180,0002 440 79,200
= 39,600
Al 39,600
- AILIOIZ2E 180,000 »690H 124,200
= 62,100
Al 62,100




FA I OoNel 1t
M Lol=|=A
oo LOESKR U 25 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLQASESXIRAS (AIZE)
2,670,000& 1054 280,350
= 140,175
Al 140,175
OIS BENIAA (HYL A )
150,000 66 9,900
= 4,950
Al 4,950
OLQAISI S XA A (AFZIMEIAE) 2,617,230
Oel2d| 504,000 x3302 102 1,960,200
= 980,100
Al 980,100
O=F5=+¢ 145,700& %3302 <10 480,810
= 240,405
Al 240,405
O=R &I 534,000 +330H 176,220
= 88,110
Al 88,110
309 HES 186,735 147,345 9,390
= 72,068
Al 72,067
= 12,600
01 SAt- SHEYNES 156,735 147,345 9,390
O QNS EEXH5Y) 186,735
OMRLoI=XI2H2d) 62,694,000& 62,694
= 28,827
Al 28,827
o 5,040
OGRS 2(38) 94,041,000 9,041
= 43,241
Al 43,240
= 7,560
AlLIGZE 2gXE 342,307 349,367 A7,080
Al 19,000
s 323,307
308 AtXIEMSOIE 342,307 349,367 AT7,060
Al 19,000
[Ea 323,307
11 S [2S0 e YA AS A 342,307 349,367 AT7,000
OAILIoIZ2Y 214HI(59)
282,413,000 282,413
Al 9,000
= 273,413
OAILIGIZEE =gl 59,894,000 59,894




FA I OoNel 1t
M Lol=XEX
el LoEgsSiE ¥ 2S (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 10,000
s 49,8%4
deag 830,230 698,525 131,705
Al 405,261
Ea 424,969
301 EtE NS 40,000 40,000
14 JIEH2 A2 40,000 40,000
OFZAY TAZAR AHIX
10,0002 x 162 *2502 40,000
307 212+01& 280,230 233,525 46,705
Al 196,161
s 84,069
11 AMEISXAEEES 280,230 233,525 46,706
OZ=ZAlY 2R (212 6I44)
280,230,000& 280,230
Al 196, 161
Ea 84,069
308 AtXIEMSOIE 510,000 425,000 85,000
Al 209,100
o 300,900
11 S [2S0 e YA AS A 510,000 425,000 85,000
oZz2Ag 2 510,000
Ogrro=xz
3,000 x2602 x250 195,000
Al 79,950
Ea 115,080
OMELeI=X 2
3, 0003 #4202 250! 315,000
Al 129,150
[Ea 185,850
Cistcolsl X3 189,045 124,610 64,435
Al 11,250
o 177,7%
307 el2tol & 189,045 124,610 64,435
Al 11,250
[Ea 177,79%
02 QIZHEAAEE X 15,500 13,500 2,000
OXlaZt 3=l 5,800,000 5,800
OXI 2 &t Jet2E=s2i3l
4,300,000 4,300
onzd NS=Es 8¢ At
5,400,000& 5,400
03 PIZAHHEE 22X 171,045 108,610 62,435
Olet=2ls =Xz 2SI 171,045




FA I OoNel 1t
M Lol=XEX
oo LOESKR U 25 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oelzd|(2Y) 82,478,000 82,478
Al 5,600
2 76,878
O2%HI(BRR32, +84l 5)
41,047,0002 41,047
Al 4,400
2 3,647
OADIE F2Y PHA(H2=X)
47,520,000 47,520
1 AMEISXAIEES 2,500 2,500 0
OzAgssg 29AH 2,500,000& 2,500
Al 1,250
o 1,250
colod & B2oe K& 258,650 258,650 0
Al 6,000
Ea 252,650
307 elztol & 258,650 258,650 0
Al 6,000
= 252,650
02 2B YA HE X 8,650 8,650 0
OXHMXIAL SF=Z X8 024 A S&
x| 8,650, 0002 8,650
04 DIZFSAPAIR 2 X 250,000 250,000 0
oLolol 9 2oy X
250,000,000 250,000
Al 6,000
[Ea 244,000
S0/8d(2 5= & 0l - 012H]) X& 1,785,000 1,075,000 710,000
201 er23 | 8,000 37,000 229,000
01 At2teltl 8,000 37,000 /29,000
OHIRH =R L B2
8,000,000& 8,000
301 EetE2 N = 1,752,000 1,038,000 714,000
02 A EE A S(FANE, XLETHE) 1,752,000 1,038,000 714,000
o== % 0| - 0IEH X&
15,0002 %29, 2002 42 1,752,000
307 elztol & 25,000 25,000
05 2ItRIE =2 25,000 25,000
ObI® X JtE HAAAE 2E ===
25,000,000& 25,000
Lo AANE &5 & K3 16,442,923 8,816,142 7,626,781
= 372,842
Al 1,019,825
= 15,060,256




SA oIl ot

RS L= NESES)

Rl Z0I=EXAE #F 2 K& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
d2g AF L 2= 1,410,000 1,135,000 275,000

401 Al HIZL 201 1,410,000 1,135,000 275,000
01 Al&HI 1,405,000 1,130,000 275,000
OB SHARY 2RYUBA
140,000,000 140,000
O8AM =3HclZZ2E AIZIHESAL
50,000,000 50,000
o248t SLA3IZBZ2Y AL SA
60,000,000 60,000
O SR2RIFZY AIEIHESA
40,000,000& 40,000
o2 SUMAZRF AIENESAH
50,000,000 50,000
OSE =dIZF AEIHESA
40,000,000 40,000
OFs =232 F ANEIHESA
50,000,000 50,000
OF= SCcIBZE AEIHESA
40,000,000 40,000
OFS ot2FEIZE AMEMNESA
40,000,000 40,000
OFAM 2XNBZZ AEIHESA
50,000,000 50,000
OFA EEAZZ AIENESAH
60,000,000 60,000
Od= ASEZF AEIHESA
60,000,000 60,000
OclZ2ad 2 AEHESAE HAIEAHHI
65,000,000 65,000
o3dzg 213+ 610,000,000 610,000
OZ=2¢g JIEAIE == 50,000,000 50,000
03 Al 20HHI 5,000 5,000 0
0F2LY UE L HBEBA
5,000,000& 5,000
SRESE=NE= A8 9,800,000 2,000,000 7,800,000
401 AIZHIX S THE 9,800,000 2,000,000 7,800,000
01 A28l 9,000,000 2,000,000 7,000,000
OZAHI 9,000,000,000& 9,000,000
02 2/l 780,000 0 780,000
ozl 780,000,000 780,000
03 Al 20HHI 20,000 0 20,000
OAIE 20l 20,000,000 20,000
d2g K& 1,836,477 1,722,001 114,476
Al 367,292
Ea 1,469,185
201 er=23y| 143,890 106,299 38,591
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FA I OoNel 1t
M Lol=XEX
Chel LOIGPI=TIAIY &5 Y X2 (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 124,432
OstHERIXA(4sH) 22 X 37,000
OZ2¢ 2,000,000 * 1694 2= 32,000
Al 32,000
og 23 5,000,000 * 104 2 5,000
Al 5,000
O8d =23 248 XN&
300,000& 1204 2=+ 123 43,200
11 AMRISXAEEES 263,817 257,722 6,095
OZ32g AL=R0IXE At
89, 140,00024 89,140
OF2Y =S| TR IR BHRIAI (32)
148,397,000 148,397
Al 48,952
= 99,445
OSY HEFRY YA
26,280,000 26,280
405 AHaHE = 289,250 238,000 51,250
Al 45,000
= 244,250
01 MMM ESFSHI 289,250 238,000 51,250
OARYIISHHEALY
1,500,000 *607H 2 90,000
Al 45,000
o 45,000
o324 HIZ 7+ 148,250
odall 800,000 = 10CH 8,000
Ogxdan 1,800,000 *20CH 36,000
Ogdibld 850,000 504 4,250
ouloiz 2,000, 0002 40CH 80,000
OetOtel Xt 2,000,000 *10CH 20,000
OALIEEZE HIZ +#¥ 51,000
OIPTV 850,000 *60CH 51,000
d2g dutaddl & 2=l A2 745,684 786,887 A41,203
= 372,842
Al 186,421
o 186,421
307 el2to| & 745,684 786,887 241,203
= 372,842
Al 186,421
= 186,421
10 Al SXAIEEHE 22X 745,684 786,887 241,203
OBAIH Hegdl X3 646,400,000 646,400
= 323,200




FA I OoNel 1t
M Lol=XEX
o9l TOlOPDI=XIAA 25 U X8 COR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 161,600
s 161,600
OBtAIR Hdl XI& 80,800,000 80,800
= 40,400
Al 20,200
= 20,200
o2=Hl XI& 18,484,000 18,484
= 9,242
Al 4,621
= 4,621
col=sk2 2SI 2,594,762 3,029,004 N434,242
Al 452,112
Ea 2,142,650
308 AXIHS0IA 705,523 946,498 A240,975
Al 40,000
o 665,523
11 S| 2SO0 UeZB XA AIE 705,523 946,498 A240,975
ONRLOISKI2 AFHHI
357,765,000 367,765
Al 20,000
Ea 337,765
OERLo=X2 A
347,758,000 347,758
Al 20,000
Ea 327,758
309 HES 1,840,139 1,736,236 103,903
Al 412,112
[Ea 1,428,027
01 SAL- SHEYTES 1,840,139 1,736,236 103,903
OMELoI=T2 2EH|
962,415,000 962,415
Al 210,656
= 751,759
OgRoIsK2 23|
877,724,000& 877,724
Al 201,456
s 676,268
404 SAHSHIUH=HES 49,100 346,270 A297,170
01 BAl- SEHI=HES 49,100 346,270 A297,170
ONRoISX2 F=XBH
19,100,000 19,100
OgRos2 AH=HBH|
30,000,000 30,000
=oltHst A& 56,000 56,000 0




FA I OoNel 1t
M Lol=XEX
o9l TOlOPDI=XIAA 25 U X8 (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 14,000
s 42,000
307 lztol & 48,000 48,000 0
Al 12,000
= 36,000
11 AMEISXAIEEXS 48,000 48,000 0
OLQItHE! 2| XI& (212 6IHA)
48,000,000 48,000
Al 12,000
s 36,000
308 AHXIHMSO0IA 8,000 8,000 0
Al 2,000
= 6,000
11 SIS0t oA A A 8,000 8,000 0
O=oltyst 23 N (SRS =2
) 8,000,000& 8,000
Al 2,000
Ea 6,000
COIMEAIE & THOAIE X 2,503,097 2,636,623 133,526
= 89,855
Al 2,252,482
[Ea 160,760
LZAIE 2EH| X (HEAY) 1,035,351 993,339 42,012
Al 1,035,351
307 glztol & 1,035,351 993,339 42,012
Al 1,035,351
10 AlRISXAZEHE 22X 1,035,351 993,339 42,012
O I=NHIXIAIL 2 R g
A 1,035,351,000& 1,035,351
Al 1,035,351
COIMEAIE 28 X2 722,160 872,676 150,516
Al 641,400
o 80,760
201 =3 3,360 3,360
01 At22t2l] 3,360 3,360
A2 N dARde S48
70,0002 x4 *123] 3,360
301 EtE NS 77,400 254,676 AT77,276
02 ARSI 2 X LGS (FHAAHS, W) 77,400 72,000 5,400
OLQlUEAE /AE
45,0002 *860H <22 77,400
307 @120l & 641,400 614,640 26,760
Al 641,400
10 Al SAAIEEHE 22X 641,400 614,640 26,760




SA: LoIE0H et
Hm: Lol=X| =X
SRl EoldEAIE 2 THOHAIE K12 (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OLQIMEAIL SAR XI&
641,400,000& 641,400
Al 641,400
LOIMEIAIE E500ISEY) A 179,710 219,924 A40,214
= 89,855
Al 89,855
402 QI2E X201 ™ 179,710 219,924 A40,214
= 89,855
Al 89,855
02 QIZEXH2 A 2 (01 TH &) 179,710 219,924 A0,214
O=2&9¥ HWE(LIH0INEE)
74,110,000 74,110
= 37,055
Al 37,055
O MI=CIXAMBIAXIAEE N2 4=(
AZIHIOIE) 105,600,000& 105,600
= 52,800
Al 52,800
Mot I=XIAIE 2l R 565,876 550,684 15,192
Al 485,876
= 80,000
307 2Iz2+0l™ 565,876 550,684 15,192
Al 485,876
= 80,000
10 AISISXAIEHE2ZHIER 565,876 550,684 15,192
OMIIC XA MHIAHE 22|
134,629, 000& *4JH 2~ 538,516
Al 458,516
= 80,000
OMIE X AMBIANE SALRE Al2+2| =
=4 150,000& * 12 = 1201 & 21,600
Al 21,600
O X2 ABIANHE SALA A=A
40,0002 12 =124 & 5,760
Al 5,760
ZoeIsXIEsA 41,209,534 34,723,322 6,486,212
= 20,753,79
Al 14,982,404
= 5,473,331
HASE ZOHQIMEOHN X2 ALY 20,730,172 17,873,543 2,856,629
= 13,281,523
Al 7,345,761
= 102,888
o= (I1x) X3 604,99% 335,609 269,387




SA: LoIE0H et
A ZOHI=XSE
Cl: MASE EHOHOIAMEHONS IS AHY (Shol: % 2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 423,497
Al 181,499
301 LBBNZ 604,9% 335,609 269,387
= 423,497
Al 181,499
01 AISIBE XS (2 RETME) 604,99% 335,609 269,387
OXMH=E(II=x) 604,996,000 604,9%
= 423,497
Al 181,499
oS XARS) X2 368,393 291,829 76,564
= 257,875
Al 110,518
301 LetEHZ 368,393 291,829 76,564
= 257,875
Al 110,518
01 A B& X Z2(2REETHA) 368,393 291,829 76,564
O MEE(XARS) 368,393,000& 368,393
= 257,875
Al 110,518
Zoerdzg X=2 5,205,344 4,936,340 269,004
= 3,643,741
Al 1,561,603
301 LB F 5,205,344 4,936,340 269,004
= 3,643,741
Al 1,561,603
01 Al B &N Z2(2REETR) 5,205,344 4,936,340 269,004
OFeIAS 5,205,344,000& 5,205,344
= 3,643,741
Al 1,561,603
ZoelA= AlHIXIA 230,500 222,120 8,380
Al 230,500
301 LPBENZ 230,500 222,120 8,380
Al 230,500
02 MBI 2EAHS(HUYAHS, NSTHA) 230,500 222,120 8,380
O&OHeIHAZ AlBIXIA 230,500,000& 230,500
Al 230,500
NASEO0HRN &chH] 2 Z A XI& 1,664 1,664 0
= 832
Al 832
301 LB F 1,664 1,664 0
= 832
Al 832
01 Al B&X2HZ2(2REETR) 1,664 1,664 0




SN OIFOfQI Dt
M =S
o9l HASE FOHQIMEOIFTIAAY (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMASZONQ &EHl X Al X
41,6002 *40H 1,664
= 832
Al 832
Zolei=Hl K& 112,575 113,849 A1,274
= 90,060
Al 22,515
308 AHXIHMSO0IA 112,575 113,849 A1,274
= 90,060
Al 22,515
11 SIS0 EAS A 112,575 113,849 N1,274
oFoelelZHl XI& 112,575,000 112,575
= 90,060
Al 22,515
L2010 K& 11,758 11,758 0
= 9,406
Al 2,352
301 Eet2 NS 11,758 11,758 0
= 9,406
Al 2,352
01 Al 2E A S(SREXME) 11,758 11,758 0
OFMAEEII] K& 235, 160& »50H 11,758
= 9,406
Al 2,352
Fojeldse|22 HXIS 1,600 2,000 2400
Al 1,600
301 2eEN= 1,600 2,000 A400
Al 1,600
02 MBI 2HHLFS(HAAS, XNLHE) 1,600 2,000 2400
Ol ES2 2 FUXH
80, 000& *20K 1,600
Al 1,600
o LT 2 X (L LRtel) 836, 194 821,963 14,231
= 418,097
Al 418,097
301 LEtE NS 836,194 821,963 14,231
= 418,097
Al 418,097
01 AR 2EHSHS(RNEXRTHE) 836,194 821,963 14,231
oxojerdergd il X
836, 194,000 836,194
= 418,097
Al 418,097




SN OIFOfQI Dt
M =S
o9l HASE FOHQIMEOIFTIAAY (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oL X2l XI& (Al Rt2l) 288,412 262,242 26,170
= 144,206
Al 144,206
301 EtE N = 288,412 262,242 26,170
= 144,206
Al 144,206
01 Al EE A S (2 RNEXMA) 288,412 262,242 26,170
OFOMHAAIIME X A&
288,412,000 288,412
= 144,206
Al 144,206
oL X el X (SXLRel) 418,433 515,238 296,805
= 209,217
Al 209,216
201 Ler23 | 2,420 2,420 0
= 1,210
Al 1,210
01 AtR2t2|HI 2,420 2,420 0
Odgt+=H| 2,420
O Xtel 24| 2,420,000& 2,420
= 1,210
Al 1,210
301 EtE NS 416,013 512,818 296,805
= 208,007
Al 208,006
01 Al EE AT Z(2DEXR) 416,013 512,818 96,805
OIS LAt K&
416,013,000 416,013
= 208,007
Al 208,006
ZOHQI LKt I XI & (QtOFAF THA) 182,228 69,705 112,523
= 145,782
Al 36,446
307 glztol & 182,228 69,705 112,523
= 145,782
Al 36,446
11 MEISXAEEXS 182,228 69,705 112,523
OAIZHH 0! CHOFAL LtA
182,228,000 182,228
= 145,782
Al 36,446
ZOHQIA R I K& (L HR =2 Riel) 62,820 62,650 170
Al 62,820




SA I OoNer 1t
o FOjRI=2X ST
Ol MASE ROJOIAMSOHS X 2AY (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 62,820 62,650 170
Al 62,820
02 ARSI S2E AT S(FIANS, XLETHE) 62,820 62,650 170
OYLHQ B=AXZIXIY
62,820,000 62,820
Al 62,820
O LR2IXNE (LS A EX) 164,258 0 164,258
= 82,129
Al 82,129
307 212+01& 164,258 0 164,258
= 82,129
Al 82,129
11 AMEISXAEEES 164,258 0 164,258
OZZHM LYBSAI EX
164,258,000& 164,258
= 82,129
Al 82,129
SHEZ Q=S HZAS 11,400 15,200 A3,800
= 5,700
Al 5,700
401 A2 HIRL R 0HHI 11,400 15,200 A3,800
= 5,700
Al 5,700
01 Al&H| 11,400 16,200 A3,800
OSHER0IQIZEH HEAIL
3,800,000 3% 11,400
= 5,700
Al 5,700
ZoHe! 2SKAAS 9,388,112 7,711,233 1,676,879
= 6,571,679
Al 2,816,433
307 212+01& 9,388,112 7,711,233 1,676,879
= 6,571,679
Al 2,816,433
05 2ItRIE =2 9,388,112 7,711,233 1,676,879
OIS AIEAIL 9,388,112,000& 9,388,112
= 6,571,679
Al 2,816,433
Zoelgs2x JREH 71,077 39,570 31,507
= 49,754
Al 21,323
307 @120l & 71,077 39,570 31,507
= 49,754




SN OIFOfQI Dt
M =S
o9l HASE FOHQIMEOIFTIAAY (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 21,323
05 212t =S 71,077 39,570 31,507
oFMEsEx IHetaN
71,077,000 71,077
= 49,754
Al 21,323
ZOHIESXI& AlHIXIE 927,511 879,176 48,335
Al 924,991
= 2,520
201 Ler23| 2,520 2,520
01 At2teltl 2,520 2,520
o=g=+g 2,520
oSl == sl &
s 2,520,000& 2,520
307 212+01& 924,991 876,656 48,335
Al 924,991
05 212t =S 924,991 876,656 48,335
OIS XIE ABIXIE
924,991,000 924,991
Al 924,991
LLTHEMEIA B2 X 669,120 635,298 33,822
= 468,384
Al 100,368
= 100,368
307 elztol & 669,120 635,298 33,822
= 468,384
Al 100,368
= 100,368
05 2IIRIE =3 669,120 635,298 33,822
OgEMEAMbIA HI*X XI&
669, 120,000& 669,120
= 468,384
Al 100,368
T 100,368
ANLEXE H=RH K& 13,091 13,091 0
= 9,164
Al 3,927
307 el2to| & 13,001 13,001 0
= 9,164
Al 3,927
05 git?(& = 13,091 13,091 0
OAHNLEXH HI2X X2
13,091,000& 13,091
= 9,164




SN OIFOfQI Dt
M =S
o9l HASE FOHQIMEOIFTIAAY (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 3,927
22T FHESAHHIA K 802,857 572,269 230,588
= 562,000
Al 240,857
307 212+01& 802,857 571,429 231,428
= 562,000
Al 240,857
05 2ItRIE = 802,857 571,429 231,428
OLLHORl FABEMHIA X
802,857,000& 802,857
= 562,000
Al 240,857
LEHR =2 SAEIA AEIXIEA 86,400 47,398 39,002
Al 86,400
307 elztol & 86,400 47,398 39,002
Al 86,400
05 2ItRIE = 86,400 47,398 39,002
OYLHONR FAHEAUIA ALK
180,000& x40« 12& 86,400
Al 86,400
ol LEHSY HusESMHIA X 271,429 253,241 18,188
= 190,000
Al 81,429
307 elztol & 271,429 253,241 18,188
= 190,000
Al 81,429
05 212t S 271,429 253,241 18,188
OFAW LTSN YDSHSAYIA X
! 271,429,000 271,429
= 190,000
Al 81,429
FoHI=XAE & HH2E 2835t 20,479,362 16,849,779 3,629,583
= 7,472,276
Al 7,636,643
o 5,370,443
ZOHAS XM R 2SA X 193,910 177,559 16,351
201 fer= 3| 21,476 20,976 500
01 At 2|l 9,050 8,550 500
OZEt=EH| 5,060
OZ RS XEX HE S
3,360,000& 3,360
O+=HSIER =8
70,0002 %102 700




SA I OoNer 1t
o FOjRI=2X ST
Cel: HOHAI=SXIAIE & CHH2E 243t (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHHA=SXAIE N E2E A
5002 *2,0000H 1,000
(©F=PNg=3 2,400
O(F)EoHIHHE RX(ARX) HES
2,400,000 2,400
o=2g+d 1,590
OZONOIS RS EASE
70,0002 x7 13 490
OZ AL Ws ZAt=E
1,100,0002 %12 1,100
02 S52g4l 12,426 12,426 0
OHMHA=SXItE 28 HHEH
3,880& *1,8004 6,984
ORSBIT ILEFI| RN
114,0002 1374 2+ 13] 1,482
OHMIMSFITSE F=Ate(eh 2Ac|AAE
=Al2eldl 330,000& * 122 3,960
301 LELE NS 7,600 7,600
1 AREIXRES 400 400
OFO0HQl AR (HRE]) FAX A
10,0003 10 *43] 400
4Bt 2 a3 7,200 7,200 0
OFNAHFAIL AAXZOIE 2Tel &
=gl 50,0002 x4 *QIH A x43] 7,200
307 @I2t01 & 164,834 148,983 15,851
03 LM EHE2SHIEX 80,734 64,883 15,851
OXIHMEEs s+ 288 X2
43,238,000 43,238
OXNAYMI=SXE ST 2l
o 18,600,000& 18,600
O=0Igs 23T 2l Xz
18,89%6,000& 18,8%6
11 AMRISXAEEES 84,100 84,100 0
OZOHQIOtEI0 WA 16,000,000 16,000
odoHledd L X AOILE
11,000,000 11,000
OFHe! 3lYFelArd 33,000,000& 33,000
OFelol & XIZAH 3,300,000& 3,300
OXIHFHLIIIE At2lXE
4,800,000 4,800
OXHHH RF2U= 1,000,000& 1,000
O=0t! ALSISHME 3,000,000 3,000
OAtES =04 12,000,000& 12,000
SO BSII X2 HE 2SS X2 130,297 50,771 79,526
Al 41,358
s 88,939




2A:

M =S
Tl TOOIZXIAIE U SHISY EA35 (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 4,000 4,000
14 IIEt2 83 4,000 4,000
OZMABASED =K 2ME SAMRE =
g 50,0003 x2& »403] 4,000
307 @120l & 126,297 46,771 79,526
Al 41,358
s 84,939
10 Al SXAEEE 22X 46,771 46,771 0
OBMNIBABEIIEAME 2| S
46,771,000& 46,771
Al 17,500
s 29,271
11 AMEISXAIEEES 79,526 0 79,526
OBMWABASTAIL HEFA RF +&
79,526,000& 79,526
Al 23,858
o 55,668
KNEZOHAXRE X2 HE 2SI 135,165 138,761 A3,59%6
Al 54,066
T 81,099
307 elztol & 135,165 138,761 A3,5%6
Al 54,066
= 81,099
10 Al SXAAIEEHE 22X 135,165 138,761 A3,596
OXNHFOHA NS ZHEH 2 S
135, 165,000& 135,165
Al 54,066
o 81,099
= SFHE 2SN 236,046 178,022 58,024
Al 118,023
Ea 118,023
307 elztol & 236,046 178,022 58,024
Al 118,023
= 118,023
10 Al SXAIEEHE 22X 236,046 178,022 58,024
O==0ISAHE 228 S
236,046,000 236,046
Al 118,023
o 118,023
SSYMINEASEH 2SR 72,000 32,000 40,000
Al 30,000
[Ea 42,000
307 212+01& 72,000 32,000 40,000
Al 30,000




SN OIFOfQI Dt
M =S
Sl ZOHISXAIE & HH2E 845t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 42,000
10 Al SXAZEE 22X 72,000 32,000 40,000
OSSHMINHELEEHH 23
72,000,000 72,000
Al 30,000
[Ea 42,000
Joel == 2SAH 54,000 55,200 21,200
Al 54,000
308 AtXIEMSOIE 54,000 55,200 1,200
Al 54,000
1 SIS0t EAS A 54,000 55,200 1,200
odels=sg 2 54,000,000 54,000
Al 54,000
JoHI=XAIE 0IEE K& 87,600 84,000 3,600
Al 87,600
301 EtE NS 87,600 84,000 3,600
Al 87,600
02 MR 2HASFS(HAAS, XLHE) 87,600 84,000 3,600
OEHMA=IIANE OlEZ XA
50,0002 x 146 122 87,600
Al 87,600
ZULF2UESAIE 2SXA 957,924 925,792 32,132
Al 771,412
o 186,512
307 @20l & 609,350 588,09 21,255
Al 493,984
s 115,366
10 Al2ISTIAEEE2HIEX 609,350 588,09 21,255
OZONQI=2AE2SAIE I24HI(30H L)
512,870,000 512,870
Al 461,584
= 51,286
OFHF=AESAIE 2EHI(3M ) 96,480
OAld&gH| 1,000,000 #301 A% 123 36,000
Al 32,400
s 3,600
Oxte= | 200,000 x304 2=x 123 7,200
OZZ I AISH
480,000 *3 A+ 122 17,280
O= - 24| 1,000, 0002 *3H 2xx 122 36,000
308 AtXIEMSOIE 348,574 337,697 10,877
Al 277,428
[Ea 71,146
11 S [2S0 e YA AS A 348,574 337,697 10,877




2A:

M =S
Sl ZOHISXAIE & HH2E 845t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OROfQIFAR B AL Q1A (20 A)
284,254,000 284,254
Al 255,828
Ea 28,426
OXOHAFAESAIE 2SHI(2H ) 64,320
OAlZ2gH| 1,000, 0002 x2JH 2=x 12 24,000
Al 21,600
= 2,400
Oxtg=dt| 200,000 #2)4 2+ 123 4,800
OZZ AN
480,000 «20 A+ 128 11,520
O= - 2AH| 1,000, 0002 x2JH 2=* 12 24,000
ZOHRIAFAIE 2SR 10,434,381 10,044,164 390,217
= 7,304,066
Al 3,130,315
307 elztol & 10,434,381 10,044,164 390,217
= 7,304,066
Al 3,130,315
10 Al SAAEEHE 22X 10,434,381 10,044,164 390,217
OFOHRINFAIZ QA & 2SHI(7H2)
10,434,381,000& 10,434,381
= 7,304,066
Al 3,130,315
ORI HFAIE 24| AIHIXIZ 564,861 548,083 16,778
Al 564,861
307 @120l & 564,861 548,083 16,778
Al 564,861
10 Al SXAEEHE 22X 564,861 548,083 16,778
OZOHANFAIE 2HHI AIBIXIRA(7IH2) 564,861
SOFSAHA l2dl & =&
507,093,000 507,093
Al 507,093
Ot FAH| 54,531,000& 54,531
Al 54,531
otel 28= 3,237,000& 3,237
Al 3,237
ZOHRAEDINFAIE 2SR 742,600 654,900 87,700
Al 712,600
= 30,000
307 elzto| & 742,600 654,900 87,700
Al 712,600
[Ea 30,000
10 Al SAAEEHE 22X 742,600 654,900 87,700
OZOHASI I HFAIE 2SS X (20HA) 742,600




A R==t P10 ReTi
X

M =S
Sl ZOHISXAIE & HH2E 845t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
@)uFal:] 690,600,000 690,600
Al 690,600
OZel24| 42,000,000 42,000
Al 12,000
= 30,000
OArgHI 10,000,000 10,000
Al 10,000
ZOHRIAHFAIE JISEH 312,900 0 312,900
= 156,450
Al 156,450
402 QI2FX+=01 & 312,900 0 312,900
= 156,450
Al 156,450
02 QI XHE AL E R (01X THE) 312,900 0 312,900
OoutsaASTHEE SSIIUMSA
74,800,000 74,800
= 37,400
Al 37,400
O =dl i WM SAt 238,100,000 238,100
= 119,050
Al 119,050
O HFAIE SIIEED| elE X 19,600 19,600 0
= 11,760
Al 7,840
307 @I2t0| & 19,600 19,600 0
= 11,760
Al 7,840
11 AMRISXAEEES 19,600 19,600 0
O HFAIE SIIEED| elg X&H
19,600,000 19,600
= 11,760
Al 7,840
ZOHAXSIHEAE 2SN 1,236,120 1,147,824 88,296
Al 1,122,845
o 113,275
307 @120l & 1,236,120 1,147,824 88,296
Al 1,122,845
o 113,275
10 AlRISTIAEEE 22X 1,236,120 1,147,824 88,296
O A XATHEAIL 212H|
1, 103,980,000 1,103,980
Al 1,050,705
= 53,275




2A:

M FOjol=X S A
Sl MOHOISXAIE U SHSY 25 (Shol: % 2)
SA - B S (3H) - MISAY - B2 Ofl by G o MimE=EY
OZMIFATENE 2=t
132,140,000 132,140
Al 72,140
= 60,000
ZofelsK2 22 2,247,568 2,123,103 124,465
Al 722,673
= 1,524,895
308 AXIHHMSOIA 448,377 439,715 8,662
11 2|2 SHUSEAERAEAIZH] 448,377 439,715 8,662
OZOHI=Z X2 AIP 23|
448 ,377,000& 448,377
30 &= 1,666,111 1,628,388 37,723
Al 722,673
= 943,438
01 SAt- SHIANEZ 1,666,111 1,628,388 37,723
O&HeI=EX2 24 1,6066,111,000& 1,666,111
Al 722,673
= 943,438
404 SAIEHAESEES 133,080 55,000 78,080
01 2Al - 2EXI=28E2 133,080 55,000 78,080
O&ofeI=2X 2 2d 133,080, 000& 133,080
ZOCIZXIAIE |2 38,790 37,800 990
301 LEtEXZ 38,790 37,800 990
02 A BEELH2(FHSHS, NYHE) 38,790 37,800 990
OHMRI=EXIAIE 22
45,0003 #4318 23| 38,790
MIISAIAIE SAA S SXEQE XA 62,600 57,200 5,400
Al 62,600
307 21Z2H0| ™ 62,600 57,200 5,400
Al 62,600
10 AISIEXIAIEBEE2IHIEX 62,600 57,200 5,400
OAMEIZ2XAIE SAIAH UH=5E SXEQE
K& 62,600,000& 62,600
Al 62,600
MEHHOIZ2ZAIEE O|N A= 1,227,000 1,227,000
401 AlEHIZL L2 C0HY] 1,227,000 1,227,000
01 Al&HI 1,222,000 1,222,000
OZAd| 712,000,000& 712,000
OEXI 0| 510,000,000 510,000
03 AIEE20HYI 5,000 0 5,000
OAIE 20Ut 5,000,000& 5,000
ZHOHRI= X2 2t HE (HI=H]) 660,000 575,000 85,000
401 AlEHIZL L 0HH] 660,000 575,000 85,000




SA I OoNer 1t
M =S
SRl HOISAIAIE & SH2d 243t EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 660,000 575,000 85,000
OEXI0HbI 660,000,000 660,000
R NS X2t A (A=) 1,066,000 1,066,000
401 AIEHIX R0 1,066,000 1,066,000
01 A28l 1,066,000 1,066,000
O£l 1,066,000,000& 1,066,000
=D ZUEEH 33,887,138 28,900,196 4,986,942
= 29,999,526
[ 100,100
Al 2,572,619
Ea 1,214,893
JI=HEEEIAS 29,866,229 25,289,806 4,576,423
= 26,648,503
Al 2,238,033
= 979,693
=g 28X 4,625 4,625
201 er2 3| 4,625 4,625
01 At2teltl 3,260 3,260
CEIEIRS=i 2,000
OSTUAT AZ0 AN I
80% *12,5000H 1,000
O=NUaA 28 222 M
80% *12,5000H 1,000
o23+¢ 1,260
OMEBERRAS HALT
70,0002 x0H *23] 1,260
2 Ss52g4l 1,365 1,365 0
O0382= % HA 1,365
OoRER=s 1,365,000 1,365
HAS0 21,026,667 18,220,333 2,806,334
= 18,924,000
Al 1,471,867
= 630,800
301 EtE NS 21,026,667 18,220,333 2,806,334
= 18,924,000
Al 1,471,867
o 630,800
01 ARSI 2E AL S(SREXMH) 21,026,667 18,220,333 2,806,334
OdA=N 21,026,667,000& 21,026,667
= 18,924,000
Al 1,471,867
s 630,800
FHSN 8,125,137 6,700,701 1,424,436




FA I OoNel 1t
Mo 20| EMBEY
SRl YR EAY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 7,312,623
Al 568,760
s 243,754
301 EetE2 NS 7,825,137 6,030,631 1,794,506
= 7,042,623
Al 547,760
Ea 234,754
01 Al EE AT S (2 RDEXA) 7,825,137 6,030,631 1,794,506
FHsN 7,825,137,000& 7,825,137
= 7,042,623
Al 547,760
= 234,754
403 MR HHMSAHE01H 300,000 670,070 A370,070
= 270,000
Al 21,000
= 9,000
02 SISOt = A P E A I 300,000 670,070 A370,070
O==dRXIZ20(E=al) 300,000,000 300,000
= 270,000
Al 21,000
s 9,000
ME=g= 11,018 10,147 871
308 AHXIEMSOIH 11,018 10,147 871
08 W20t etEx 11,018 10,147 871
(©ME=s={0] 11,018,000& 11,018
SHAE NSO 162,939 146,792 16,147
= 146,645
Al 11,406
[Ea 4,888
301 EtE N = 162,939 146,792 16,147
= 146,645
Al 11,406
= 4,888
01 A2 HSFS(RNEERTHE) 162,939 146,792 16,147
(O FSESPN =10 162,939,000 162,939
= 146,645
Al 11,406
T 4,888
FRA=2c|d| SHHHHIXIR 79,235 70,000 9,235
= 79,235
201 223 79,235 70,000 9,235
= 79,235
01 AtR2t2lHI 79,235 70,000 9,235




A COIF ORIt
M 20| MU
ool D EMBBIALY

SA - ZE . BR() - HRAR - BES of v G o HIDE2
CEEREEEIET TR
79,235,000& 79,235
= 79,235
s =RALEEE N 50,400 96,000 /45,600
301 EtE NS 50,400 96,000 /45,600
02 MBI 2HHSFHS(HAANS, XLHE) 50,400 96,000 A45,600
OXtIHE AL EEE K&
7,500 *560 M| T 12 50,400
MNasSxoiE st Ad 15,000 15,000
301 EetE2 N = 15,000 15,000
02 ANRI2HHFS(HAAS, XNLHE) 15,000 15,000
ONASFOUR H&Z X2
15,000,000& 15,000
SHADAYT HHE ¥ HeA Xt 6K~ 19,208 19,208
301 LELEN S 19,208 19,208
02 MBI 2HHSFHS(HAANS, XLHE) 19,208 19,208
ORHA DAZX el 12,048,000& 12,048
ORHIAIHA MESI=
5,600,000& 5,600
O™t Aol 720,000 720
Okt ss7=H| 840,000 840
UM SAl EEXA 372,000 0 372,000
= 186,000
Al 186,000
101 @124H| 16,324 0 16,324
= 8,162
Al 8,162
04 JIZtN22 XS 2+ 16,324 0 16,324
(©ftiFal:] 16,324,000 16,324
= 8,162
Al 8,162
301 2eEN= 365,676 0 365,676
= 177,838
Al 177,838
01 A2 HSHS(RNEERTHE) 365,676 0 365,676
OFHEEAN BtAl SEXH
365,676,000 365,676
= 177,838
Al 177,838
NASS A 4,020,909 3,610,390 410,519
= 3,351,023
= 100, 100
Al 334,586
T 235,200




FA I OoNel 1t
Mo 20| EMBEY
Bel: NASS NI (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
NEX2LE 2K 472,979 446,401 26,578
= 303,085
Al 64,947
[Ea 104,947
307 212+01& 472,979 446,401 26,578
= 303,085
Al 64,947
s 104,947
10 Al SXA2EE 22X 472,979 446,401 26,578
OXISAt2HlE 2SS
472,979,000 472,979
= 303,085
Al 64,947
o 104,947
NS EHE SAHA =& 18,240 18,240 0
Al 11,040
T 7,200
307 glztol & 18,240 18,240 0
Al 11,040
= 7,200
10 Al SXAIEEHE2EHI2x 18,240 18,240 0
OXSH2HE SAL MM+
150,000 x8&* 122 14,400
Al 7,200
o 7,200
OXISA2HE SAHR XA+
40,0002 8~ 123 3,840
Al 3,840
22 A 2,564,129 2,648,800 A\84,671
= 2,307,716
Al 179,489
Ea 76,924
402 2IZtA=01d 2,564,129 2,648,800 A\B4,671
= 2,307,716
Al 179,489
= 76,924
03 2I2+RAETAIS I 2,564,129 2,648,800 A\84,671
OXEZZAIS 2,564,129,000& 2,564,129
= 2,307,716
Al 179,489
s 76,924
ZESHEJE == x5 NI 822,561 303,307 519,254
= 740,222
Al 57,660




A =QIE0HRI Dt
Hu: =OD|EMESEY
=@l MASE HENE (SH &)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
i 24,679
308 AXIHMSOI & 822,561 303,307 519,254
= 740,222
Al 57,660
i 24,679
11 S 2SI & E &AL 822,561 303,307 519,254
OIS I=1=FSy 2,160,000& 2,160
= 1,944
Al 151
= 65
Os|LIIZSSEII 20,520,000 20,520
= 18,468
Al 1,436
= 616
ougsIzSE 13,542,000 13,542
= 12,188
Al 948
= 406
o¥dUsWII=ZEE 2,261,000& 2,261
= 2,035
Al 158
= 68
OFAMEAH 63,717,000& 63,717
= 57,345
Al 4,460
= 1,912
Os|LH=HZH 8,209,000& 8,209
= 7,305
Al 657
i 247
OS| L= HEH | 69, 192,000& 69,192
= 62,273
Al 4,843
i 2,076
OFHUNLMZH ZH(XtARI0l6H)
58,620,000 58,620
= 52,758
Al 4,103
= 1,759
OFHAUNLMEAH ZH It ZD)
584,340,000 584,340
= 525,906
Al 40,904
= 17,530




FA I OoNel 1t
Mo 20| EMBEY
Bel: NASS NI (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
g?ﬂ%@,MEHHM:ENM%CNME%%%ZU%M 143,000 173,642 £30,642
= 100, 100
Al 21,450
T 21,450
307 glztol & 143,000 173,642 230,642
s 100, 100
Al 21,450
o 21,450
05 2IR”tRIE = 143,000 173,642 230,642
OIARIE YR TR
143,000,000 143,000
s 100, 100
Al 21,450
s 21,450
AH2IFHI(= I F0HRID) 362,964 253,603 99,361
= 58,967
Al 14,742
s 279,255
el AHI(L- I &Nl 251,067 150,581 100,486
= 58,967
Al 14,742
[Ea 177,358
QA2 HH| (&R 153,027 150,581 2,446
101 e124d| 153,027 150,581 2,446
01 &= 153,027 180,581 2,446
oA RRAY
12,3213 45 A 2H+23E « 12 183,027
olA2IHI (S S 02l AL l24Hl) 98,040 0 98,040
= 58,967
Al 14,742
s 24,331
101 @124H| 98,040 0 98,040
= 58,967
Al 14,742
[Ea 24,331
03 SRA(RIH L) 222+ 98,040 0 98,040
022 S0 2elAL 212HI(2Y)
98,040,000 98,040
= 58,967
Al 14,742
o 24,331
JI2ZHI (=1 &0l t) 101,897 103,022 AT1,125
JI2ZHI(=IZ 0l t) 101,897 103,022 AT1,125




A =QIE0HRI Dt
S HY2AAH|(LIFID)
Sl J12HI(L= I F 01l (St &)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
201 Let2| 40,097 41,222 A1,125
01 Ar2eltl 40,097 41,222 A1,125
Oget=2| 10,145
OsAML=2 10, 145,000 10,145
O=tl 8,000 x24Z 134! 12F 29,952
202 04d| 57,600 57,600
01 =W OdHI 57,600 57,600
o2l 200,0002 x24H 123 57,600
203 =& 4,200 4,200
M4 FA2ILRFAL 4,200 4,200
OFRNM2ILRFAHI 350,000 x 12 4,200




